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Review

Describe the end behavior using limits:
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3.2 Exponential Modeling

- 1ov%h A veiess ZImvause
What 1s the 1nitial value and percent of increase or
decrease?
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f(x) =5-85" l\:h dwrcaee 1970

_ X
f (x) = *b When looking at percent

x) = g. ] + 7)* Increase or decrease - the
J(x) =a,« ) base is expressed as 100%

+ or - the % change.

f (X) = Do, 73% Is this an increase or
decrease?

l\ By what %?
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The(gnitial value 1s 4 and the population is
mncreasing by 3%)| Write an exponential equati(ﬂ

=4 (109"

If you have the life
cycle of a given
behavior then use this
formula.

(4) the amount after a given period of time
@ the 1nitial amount

\ t time
\ﬂ the life cycle of the behavior

@ type of behavior (doubling, half life, etc.)
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You have of a substance that h

How much do you have in
A=dieby CiD g ()Yho
When will you have less
than 2 grams?

1’.20

Z<6 (2@1dm\\56

Atmospheric Pressure:
h

1 )36
P(h) = 14.7-[5j

P pounds per square inch
h height in miles

14.7 1nitial pressure (sea level)
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A_L;‘oces:i of fitting a set of data to an exponential equation.
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Exponential Regression
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Compare the result with 2003.
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